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Note/ 77T —

Write your roll number on question-paper before start writing answers of questions.
get @ Oav fora @ qd geT—ga 9v O TRV 3aed [ord |

No supplementary answer-book will be given to any candidate. Hence the candidates should write the

answers precisely in the main answer-book only. .

freft ) qEmef @ qee Sev—gRaPT T8 & e e whERrr @l ey 17 & gy gav-grRasr
7 & e ged @ oaw ford / ' .

Question paper consists of three Sections. All three Section are compulsory.

g gF diF @vst 4 A &1 i i @ve sfard € .

Section — A: Will contains 10 objective type questions of 20 words each. Each will be of 1.5 marks for

Arts students and 1 mark for Science students. Thus, Section-A will be of 15 marks for Arts students and

of 10 marks for Science students. '

qus—a ¥ 10 FEGAT TvT & SN JRlF 7eT @ fory e & el @ oy 1.5 3F 3N BT &
Benfral # 7 1 3@ Aita &1 JeE ge7 @1 9% 20 I | SEE Tl § qET §9 PN
g3 7 15 o HoT & AEnal ® fory 3l 10 3 RwrT @ Renfar & oy [REiRa &1

Section — B: Will contain 7 questions of 50 words each, out of which students are required to attempt 5
questions. Each question will be of 3 marks for Arts students and 2 marks for Science students. Thus,
Section—B will be of 15 marks for Arts students and 10 marks of Science students. ' '
que—7 7 7 4T & di qdw weT @ oy wow & Rendiar 3 forg 3 o s BT @ Renfrar &
fore 2 3F [T &1 o7 T FE @ G oY/ JAd FIT FT SW 50 KT @ e 78T ghr
FIRY | 59 9N -@US—3 H 15 3% Ho & [Aenffar & oy 3iiv 10 3w @57, & Renfefa) @ ifargas
Section — C: Will contains 3 long questions each with internal choice. Each questioﬁ will be o}.'JHS! marks :
for Arts students and of 10 marks of Science students, Thus, Section-C will be of 45 marks for Arts students
and 30 marks for Science students. B :
W_W#manwfﬁmﬁﬁvwmm#amﬁw@mﬁwrwmmmm

% fenflar @ [y 15 3@ sl REr @ RenfRl @ [y 10 & FEiRT &) g9 qre ave—w # 45
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. Section-A / Grs—3
1. () The mid-point of class interval 175-179 is -

(@) 178 oy 177
() 1775 (d) 178.5
TR 175—179 &1 7ed g & —
(@ 178 : ® 177
(c) 1775 (d) 178.5
(I) Which of the following is not a measure of central tendency?
(a) Mean (b) Median
(¢) Range . (d) Mode
frfeRa 3§ ¥ ieer S Ry b1 A TE 87
(a) ¥rA (b) A
(c) WOR - d) 9Ed®
(I11) The median is the.............. in the series.
(a) midpoint : (b)  size
(c) class interval (d)  None
T AR H ARIDT B
(a) ¥R ' (b) IHR
(c) =R d P T
(IV) Standard deviation is the measure of - 2
(a) Measure of Central tendency (b) Average tendency
(c) Measures of variability (d) =~ Mean tendency
A faae fpvicT AT 87
@) FIEmERE AN (b) . e wgR
0 (©  (Tamerdie ® AT (d) Wy ugh
(V) Correlation is a measure of -
(a) Variability : E (b) Relationship
(c) Central tendency : ) None
weamy e A4 &7
(a) T (b) T
(c) =g wgRT @ PE
(VD) Who formulated rank order correlation method?
(a) Pearson (b) Spearman -
(c). Fisher d Ferguson
D Pu geaEry A e afaafed fear?
(@) URREA _ (b) A
() TR (d) BEEA
(VID) Range of correlation is - ’
(a) Oto+l . + (o) - +lto-1
(c) Oto-1 (d) None
HeawE BT AR & — B
(@ 0d+1 ' (b) +19-1
) 09-1 : (d) R T
(VIII) The most significant level is - '
(a) 0.01 e (b) 0.50
(c) 0.05 : (d) 0.10
TR faeaa iy WX BT 87
(a) 001 3 (b) 0.50
) 005 (d) 0.10
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(IX) ANOVA can be measured by -

t - test

(@) F-test (b)
(©) A -test (d  None
3ar (ANOVA) &1 A0 Tahd & —
(a) F— e ) () T
© T(A)—TarT @ @A
(X) The use of computer in statistics is for -
(a) ' Analysing Results (b)  Interpreting Results
(c)  Explaining Facts (d)  Analysis of Data
' YN BT ST fHar wmar @ -
(@ TR S favde g b uRumE @ e 8
(c) tral W @R By d) e @ fazemor g

Section-B / Evs—9q

(a) What do you mean by Statistics?

wifkera) § Mg @ar |EEE §7
(b) What is Mean?

AT T 57
(c) Describe uses of Q.

TAF fage@ (Q) ®I SUAIRMEr &1 avia zﬁﬁm
(d) What do you mean by Standard Error of Mean?

ARG B IS YfE W ST 9T TS &7

(e) Describe Level of Significance.
ArfhdT & WX BT qUiF BT |

(f) Describe uses of SPSS.

Qﬂd’twwﬁwﬁﬁmtﬁraﬂhﬂﬁml

(g) What is the purpose of ANOVA?
TRV faecor &1 SR F@am 87

Section-C / gvs—4

- Calculate Mean of the following -

Class interval f
30-34 1
25-29 2
20-24 Y4
15-19 6
10-14 4
5-9 2
0-4 1

N=23

f=feRaa &1 |reg sma Iy —
IR
30-34
25-29
20-24
15-19
10 - 14
5-9

0-4
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Draw Frequency Polygon from the above data.
IR 3Tl (UEd) W IRIRAT 9891 a15¢ |

4. Calculate Quartile Deviation for the following frequency distribution -

Class interval

120-124
115-119
110-114
105 - 109
100 - 104
95 —-99
90 -94
85-89
80 -84
75-=179

Rk
120 — 124
115-119
110-114
105 — 109
100 - 104
-95-99

90 — 94

85— 89

80— 84

75-179

N LA GO B W=,

N =56

s .
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OR /3re1dr

correlation with suitable examples.

What is Correlation? Describe various types of _ ‘
WW%?W?WWWWW$WWW|

o- Compute the value of x2 (chi square) from the following 2x2 contingency table —
[+ Pass | Fail | Total
| Boys 10 4 14
| Girls 7 9 16
| Total 17 13 30 i
" ¥ 22 ST (contingency) IRV @ AT x? (@1 99) B TOMT BIRY —
N [ttt [ Srgfet | A0 |
| TSP [ 10 | 4 | 14
[osfar | 7 | 9 | 18
[ g | 17 | 13 | 30
OR /37ral

What is ANOVA? Describe assumption of ANOVA with example.
TRRYT AR T 27 ERvr fAaReT $ ARG DT 9UiF SETEReT & I Hifeiy |
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